
3.65 x 4.25 M

HWG - 057





2

2x4xA B

B3 2xB2 2x

B1 2x

C 2x

E 4x E1 6x

F1 4x F2 4x

G2 4x

G3 2x G4 2x

F 4x

G1 4x

D 2x D1 2x D2 2x

D3 2x

C3 2xC2 2xC1 2x

F3 4x F4 4x

G 2x



3

P

4x

4x

1x4x

Q2

NLK

H 4x

M1x 8x

Q 2x

4xJ

4xQ1

H1 4x

R

R1

120xUT 4x 4x + 1xT1

4x

2x

R2 4x

2xS4xS1 4xS2

+

N1 6x N2 6x

W 16x W1 Y 40x16x

H2 4x

Za 2x

Y1 12x

4xV

1x

1x
S4



1 3 4

5 2x

4

<1>

A 4x

J 4x
1

J

A

A

J

1

1

247x
M6x15 ST4.8x12M5x12

2 32x 12x 14x

6
M5x6

16x 7
ST4x8

60x 9 12x

10 1x

12x1
M6x15



5

<2>

2x

2x

2x

2x

B

B1

B2

B3

P 4x

1

1

P

1

1

B2

PB3
36x1

M6x15

B

B1

B

B1

P

B2

B3

P
8x3

M5x12

B
B1

3

B2
B3

3

<b>

<a>

<a>

<b>



6

<3>

32x2

B

B1A

A

B2

B3

A

B2B1

2 2

B2

B3

B

B1

A



7

<4>

H1 4x

H2 4x

H1 H2

H1

H2

H1H2

H1

H2

A
H1

1

1 1

1

H2

B1B2

M6x15
32x1



8

<5>

M6x15
32x1

W1 16x

W1

1

W1

B B1or B2or B3or

W1 W1

W1

W1
W1



120x

<6>
C1

C

C2

C

C1 C2

C3

M6x15
40x

U

2x 2xC C22xC1 2xC3

C C1or C2 C3or

C C2orC1 C3or

4x3
M5x12

4xV

1

7x7x 8x8x

U V
3

9

1
C3

1



10

<7>

M6x15
16x1

4xH

H

H

H

1
H

1

H



11

<8>

10 1x

L
10

10

L

10



M6x15
1 12x

4xE

1xL

1

E

L

E

E

A
1

E

Note:
    1. Let one person stand on the ladder to lift
" L " and hold,and let others fasten the screws
connecting both ends of " E ".
    2. Please do not let go of holding " L " until
all the " E " screws are installed.

<9>

12

E

E

E

L



<10>

6xE1

1

L

E1

E1

E1

E1 E1

E1

1

E1

13

M6x15
1 24x



14

<11>

M6x15
1 3x

1xM

2x5

2xZa
1

M

Za

1

5

5

M

L

Za

Za



<12>

15

M6x15
1 10x

2x

2x

G3

G4

N 4x

1
1

G3 G4N
E

E1

G3

G3

E

E G4

G4



<13>

16

S1
E

E1

S1

4x

4x

S1

S2

S2

E

E1

S1

S2

S2

S2S1

S1

S1

S1

2xS

S

S

E

E1



17

4x

4x

2x

N

6xN1

G

G1

10x
M6x15

1

4xG2

<14>

1

N

G2

G1

1 N1

G2
G1

G1

G1

G1

G1

G2

G2

G2

G2

G

G



18

F3
F4

F4

F3

E1

E

E1

E

1

1

F4 F4

F3 F3

4x

4x

F3

F4

F3

F3

F3

F3

F4

F4

F4

F4

F

F

F

2xF

M6x15
1 10x

<15>



<16>

19

4x

2x

4x

F

F1

F2

F1

E1

F2

E

F1

F2

F1

F2

F1

F1

F1

F2

F2

F2

F

F

F

E1

E

1

1

F2 F2

F1 F1

10x
M6x15

1



<17>

20

4x

4x

2x

16x6
M5x6

ST4.8x12
6x4

N2

16xW

6x

4xY

Q

Q1

Q2

2xR

Q
R

E1

Y

E1

R

4

N2

W

6 W

WQ1

Q2

N2

W

Q

RQ1

Q2



21

<18>

W W W WN2

W

W

W

W

N2

Q2 Q1

Q1

Q1 Q2

Q2

W W W W

W

W

W

W

N2

N2

N2

Q1

Q1

Q2

Q2
Q

R

Q1 Q2
Q

R

N2



<19>

22
4x4x 16xYR1 R2

E or E1

R1

R1

R2

Y

Y Y

YY

E

E1

Y

Q1

R1 or

or

R2

Q2

or R

or Q

Note:
1. Y is stuck in the position of the
edges where the small piece (R1
or R2 or R) and the large piece (Q1
or Q2 or Q)overlap.
2. R1 or R2 or R must pile up on
the top of Q1 or Q2 or Q.

Q1

Q1

Q2

Q2
QQ

R2



E or E1

Y
Y

Y YYY

E E1

<a> <b>

23

20xY

<20>

<b>

<b>

<a>

<b>

<a>

<a>

<a>

<b>
<b>

<b>
<b>



24

<21>

12xY1

12x7
ST4x8

E1E1

E1

Y1
Y1

E1

7

Note: pls use power
tools to drill the screws.

E1

E1E1
E1



<22>

25

2x

2x

2x

2x

D

D1

D2

D3

D

D1 D2

D3

7

B B1or B2or B3or

D D1or D2or D3or

K

ST4x8
48x7

4x

ST4.8x12
8x4

B1 B2

K

D1
D2

4
4

B1 B2

D

D1
D2

7

D3

7

7

7



<23>

26

4xT
U

U

T

T

T
T

T

8 7

T

1234569101112131415



<24>

27

T1

T1 T1

4x + 1x

U

U

T1

+

T1 T1

8 7

T1

1234569101112131415



<25>

28

12x9

99 J

T1
T1

A



Part Qty

Part Qty

Part Qty

Carton-1/6

Carton-2/6

Carton-3/6

Carton-5/6

Part Qty

Carton-6/6

Part Qty

Part Qty

Carton-4/6

A 4

B2 2

Part Qty
Carton-4/6

F 4

F1 4

F2 4

F3 4

F4 4

B3 2

B 2

B1 2

H 4

H1 4

H2 4

Q 2

Q1 4

Q2 4

R 2

R1 4

R2 4

S 2

S1 4

S2 4

C 2

C1 2

C2 2

C3 2

D 2

D1 2

D2 2

D3 2

E 4

G 2

G1 4

G2 4

G3 2

G4 2

J 4

K 4

L 1

M 1

P 4

T 4

T1 4 + 1

W1 16

Za 2

N.N1.N2.U.V.
W.Y.Y1.9.10 1

1.2.3.4.5.6.7 1

E1 6


	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)
	1069H 说明书 Model (1)

